HSC 2001 - Biology

Question 8
Question 8
8 In 1940, Beadle and Tatum developed the one gene—one protein hypothesis. This has now
been modified to the one gene—one polypeptide hypothesis.
Why was this modification needed?
(A) All proteins are comprised of more than one type of polypeptide.
(B) Most proteins are comprised of more than one copy of the same polypeptide.
(C) Many proteins are comprised of more than one polypeptide that may be the same
or different.
(D) The number of polypeptides in proteins is always the same as the number of genes
specifying those polypeptides.
Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 18.2 14.8 16 1.4 4.9
B 13.6 10.2 9 4.4 0.5
(o3 33.6 33.2 26.6 54.4 75.7
D 34.5 41.5 48 29.6 18.9
N 0 0.3 0.4 0.1 0
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Band 1/2 Band 243 Band 3rd Band 455 Band 55

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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